



# THE 2<sup>nd</sup> INTERNATIONAL CONFERENCE on FOOD,

AGRICULTURE, and NATURAL RESOURCES
2016

Exploring local potential for strengthening food and energy security through sustainable agriculture and natural resources

FACULTY OF AGRICULTURAL TECHNOLOGY

August the 2<sup>nd</sup>- 4<sup>th</sup> 2016 | Malang - Indonesia







👣 🖳 🐧 👸 😩 🦢 IRRI

THE 2<sup>10</sup> INTERNATIONAL CONFERENCE ON FOOD AGRICULTURE AND NATURAL RESOURCES 2016 UNIVERSITAS BRAWUAYA, MALANG — EAST JAVA, INDONESIA 2-4 AUGUST 2016

# PROCEEDING

THE 2<sup>ND</sup> INTERNATIONAL CONFERENCE ON FOOD, AGRICULTURE
AND NATURAL RESOURCES 2016
FACULTY OF AGRICULTURAL TECHNOLOGY
BRAWNIAYA UNIVERSITY

AM-OOS

#### Development strategy of Borassus flabellifer liquid sugar industry: case of Small and Medium Enterprises (SMEs) Borassus flabellifer liquid sugar, Tuban Regency

#### Azmi Alvian Gabriel<sup>18</sup>

Department of Agroindustrial Technology, Faculty of Industry and Agroindustrial Technology Universitas Internacional Somes Indonesia, II. Veteran, Gresik 61122, Indonesia "Correspondence Anthes. - e-mail: agra physicilesius activation."

#### ABSTRACT

Boussam (Antolijov liquid sugar industry was one of the home scale industry) that have good development opportunities in support of the local community occusion. This presential was indicated by the increasing demand for demonste, and oversam moders for this laid of product. In order to survive and the interest of the contract of th

Keywords: Analytical Network Process, Development Strategy, Palm sugar concentrate, Small and Medium Enterprises, SWOT Analysis

#### I. INTRODUCTION

Indonesia as an agricultural and archipelago country lass a great opportunity in developing agriculturals. Agriculturals is a sector that has a key rule in supporting the increasing number of local products sales, increase the amount of absorption and equal distribution of labor and can increase the local farmers income. Tuban as one of the area which are in the north of Javas Manda has abundant natural resources, one of which is Borassus flabeliffor. This plant is one of the crops that are widely spread in Tuban with a total production reaches = 7,200 (kgha/spar and the production of the sap reaches ± 5 literstreeday (Tuban Central Barrass of Seistics, 2013). Bossass flabeliffer is one of plant tree family that grave is dry arras, especially sevend the coast. In general, the plant is used by the community, both parts of stems, leaves, final, and the says, Basically, the say is a sweet liquid that comes on of the Bower bunches of palm with a yield of sugar content reaches. 10-15%. By being source of the potential, there are several home industries that utilize pains ago to be preceding into liquid plant sugar. On development, industrial boundhald liquid palm sugar industry is one sector that is considered more resilient to face of the five market competition in Industrial (Boundstand (Books)) and in the interpretate competition in Industrial (Boundstand (Books)) and interpretate competitions of the industry, it is necessity to combine the benefits of development to the local and global market opportunities that synergize with the era of regional autonomy and the fiver market.

Therefore, it needed some alternative strategies to develop Indonesia industrial bounched liquid plan magar industry. The SNOT analysis was one method of analysis attact can be used to formulate an alternative strategy based on internal and external conditions that exist in the environment industry. SNOT analysis will produce some alternative strategies are mutually coupled between the alternatives. The alternatives strategies are mutually coupled between the alternatives. The alternative strategies are mutually coupled between the alternatives. The Analysical Network Process (ANP) method was one of Multi Criteria Decision Making (MCDM) method which can be used to arrange the priority of the various alternatives. Thus, it will be retrieved the most appropriate alternative strategies are used in the Indonesia industrial household liquid palm supar industry development.

#### II. MATERIALS AND METHODS

This study is a qualitative descriptive used two interrelated methods i.e. SWOT analysis used to determine the development strategy planning and the ANP method was used to determine the most appropriate alternative development strategy.

# 2.1 The SWOT Analysis

The SWOT analysis has several stages comperising: a) Internal and External Factor Evaluation (IFE – EFE) Matrix Acadyses, b) Internal and External Matrix Analyses (IE), and the SWOT Matrix Analyses. Pairwise comparison technique used to collect the data used to determine the weights of internal and external factors. The weighting of each strategic factor was obtained by determining the total value of each strategic factor against the total number of strategic factors wought the equation 1. The causation is written as follows:

$$Ai = \frac{X_i}{\sum_{i=1}^{n} x_i}$$

The value obtained from the FEE and EFE matrix incorporated into the matrix of the Internal-External to map the position of the company at this time. Total score weighting FEE or placed on the x-axis and total spore weighting EFE on the y-axis in the matrix IE. The SWOT matrix was used to match the results obtained at IFE and EFE matrix. This matrix can produce four cells likely alternative strategies, amonly Strengths-Opportunity, Weakness-Orsecutative, Omnorative-Treates, and Strength-Protest strategies.

### 2.2 Analytical Network Process Method

To specify the priority in the development strategy of the Indonesia industrial household liquid palm sugar, then the strategy alternative was processed by ANP method. Data processing using the ANP was composed of several stages were illustrated in Fig 1.



Figure 1. Flow Diagram of ANP Weighting Phase

#### III. RESULTS AND DISCUSSION

Based on the results of the internal factor identification that affect the developments of industry, then be evaluated against those factors from both the existing strengther industry, then be evaluated against those factors from both the existing strengthing, ranking and weaknesses by using HE Marix. The evaluation obtained results of weighting, ranking and weighting values which can be seen in table 1. Besides that, based on the results of the external factor identification that affect the development of industry, then be evaluated against those factors from both the existing opportunity and threats by using EFE Marix. The results of EFE calculation can be seen in table 2.

\*\*\* \* \*\* \* \* \* \* \* \* \* \*\*\* \* \*\*\*\*

| Strategic Factor  | Weight | Rating | Score |
|---|--------|--------|-------|
| Strengths   |        |        |       |
| <ul> <li>Local labor force was quite possible</li> </ul>    | 0.117  | 4      | 0.466 |
| The Land resources  | 0.118  | 3      | 0.354 |
| <ul> <li>Availability of appropriate technology</li> </ul>  | 0.108  | 3      | 0.325 |
| <ul> <li>The potential of a lucrative investment</li> </ul> | 0.108  | 3      | 0.325 |
| Weaknesses  |        |        |       |
| The resource of extension officer                           | 0.100  | 3      | 0.301 |
| The institutional support                                   | 0.099  | 3      | 0.296 |
| Market information  | 0.128  | 2      | 0.236 |
| The skill of craftsmen                                      | 0.105  | 2      | 0.210 |
| The availability of capital                                 | 0.136  | 1      | 0.12  |
| Total   | 1      |        | 2.641 |

Source: Data processed, 2016

| T-15-7 | Carlo Barbara | result Matrix | - CEPP |
|--------|---------------|---------------|--------|
|        |               |               |        |

| Strategic Factor  | Weight | Rating | Score |
|---|--------|--------|-------|
| Opportunities   |        |        |       |
| The market potential  | 0.130  | 4      | 0.521 |
| The availability of workforce                                   | 0.127  | 4      | 0.508 |
| <ul> <li>Development of science and technology</li> </ul>       | 0.116  | 3      | 0.347 |
| The local culture   | 0.104  | 3      | 0.312 |
| <ul> <li>The support local authorities</li> </ul>               | 0.111  | 2      | 0.221 |
| Threats   |        |        |       |
| <ul> <li>Narrowing of the cropping land construction</li> </ul> | 0.112  | 3      | 0.337 |
| Plant pests   | 0.069  | 4      | 0.277 |
| Law and legislation   | 0.106  | 2      | 0.211 |
| Product price fluctuation                                       | 0.125  | 1      | 0.125 |
|   |        |        | 2.070 |

Source: Data processed, 2016

Based on the results of matrix IFE and EFE calculation, obtained the proper strategies for the formulation of Indonesia industrial boucheds liquid palm sugar industry development was the strategy of product development and matels perstation strategies. This strategy derived from the results of IFE and EFE matrix total mapping on the IE matrix. The strategy than evolved into a technical strategy by using SWOT analysis thus obtained nine alternative strategies. The alternative strategies can be seen in table 5.

| EFE   | Strengths  Local labor force was quite possible  The Land resources  Availability of appropriate technology  The potential of a lucrative investment  | Waknesses  The resource of extension officer  The institutional support  Market information  The skill of craftsmen  The availability of capital  |
|---|---|---|
| Opportunities  The market potential  The availability of workforce  Development of science and technology  The local culture  The support local authorities | S-O strategy  Performance optimization of the industry with the technology development (SO1)  The establishment of business partnerships with other parties (SO2)  The establishment of agno-industries information services centre (SO3) | W-O strategy  Develop and optimize business information service function (WO1)  Development of industria financing institutions (WO2)  Procurement resource extension officers airy (WO3) |
| Threats  Narrowing of the cropping land construction  Plant pests  Law and legislation  Product price fluctuation   | S-T strategy The development of downstream industries (ST1) Bonds of cooperation with the Industrial Development Agency (ST2)   | W-T strategy Providing integrated marketing Center for industrial products area (WT1)   |

Source: Data processed, 2016

After the establishment linkages between each alternative, then performed using the weighting ANP method to determine the priority value of each alternative strategy. Any alternative strategies have different priority weighting. The development strategy of industrial household liquid palm sugar industry chosen based on the values of the weights have been adjusted. The weighting results in Table 4, shows sequence of alternative strategies ranging from lowest to highest.

Table 4 shows that the strategy of forming partnership efforts with other parties gained the highest weights of 0.227. This strategy can improve the performance of the industrial bounded liquid palm using industry frough a variety of appear. By uniform strategy, the liquid super craftness would obtain guides and support in conducting its industrial developments both from the aspect of financing, technology development or improvement of production systems. The improvement of the quality of the product will improve the prospects of liquid palm sugar sugar products on the market so that it will facilitate the industry in kidnic chance factors.

Table 4 Weighting Pault

| No. | Strategic Alternative   | Weigh |
|-----|---|-------|
| 1.  | The establishment of business partnerships with other parties (SO2)               | 0.227 |
| 2.  | The establishment of agro-industries information services center<br>(SO3)         | 0.191 |
| 3.  | Performance optimization of the industry with the technology<br>development (SO1) | 0.153 |
| 4.  | Procurement resource extension officers airy (WO3)                                | 0.148 |
| 5.  | Providing integrated marketing Center for industrial products area<br>(WT1)       | 0.092 |
| 6.  | Develop and optimize business information service function (WO1)                  | 0.078 |
| 7.  | Development of industrial financing institutions (WO2)                            | 0.062 |
| 8.  | Bonds of cooperation with the Industrial Development Agency (ST2)                 | 0.032 |
| 9.  | The development of downstream industries (ST1)                                    | 0.017 |
|     | Total   | 1     |

Source: Data processed, 2016

The strategy can be executed with a concerted effort between the stakeholders, which is manifested in the form of partnership. Activities that can be done are by optimizing the central enterprenaryal function and local sinitutions to support efforts inventory of local plantations potential resources. The development of local industrial activity will facilitate the efforts to establish cooperation with the institutions of industrial development. Besides, the local government has a major role in ensuring the passage of the various strategic alternatives available to address the fittents and vulnerabilities that are owned by industrial basechold legal plus sugar. De formulations of rule are regulations that cover all aspects of small business development, institutional support and capital management business were one of the great efforts that can be done in case and expedite the development of the local industrial business days.

Another alternative strategy that can be applied in the development of industrial broaded liquid palm mgar is set up agus-service centers and the provision of information resources asity extension. Provision of agus-industry information service centers and the provision of extension field have the same function in provising a variety of information to the industrial boundaring plant gauge. Both of these strategies was provided from the propertures of industrial boundarily loud palm sugar because it can be a model in revolvidit in formation model of the extensions.

An extension field resource has a role to give direct information to the craftment occurs of the conditions that exist in the field. The agra-industry information service contert is expected to provide information that is precise, accordant out pot-odate in accordance with the industrial bounded liquid palm sugar conditions. Various information can be provided through two mediums include liquid palm sugar production system improvements, freshness technology, market information and product pricing information. Thus the development efforts undertaken industrial broughold liquid pulm sugar can be conceptualized and well manageable.

#### IV. CONCLUSIONS

- Development of market penetration and product development strategy was an alternative strategy to be developed and applied in the development of the Indonesia industrial household liquid palm sugar.
- The establishment of business partnerships with other parties was a priority strategy that can be applied in the development of the Indonesia industrial household liquid palm sugar.

## REFERENCES

- Ascarya. 2005. Monetary Control Instruments. Central Banking Education and Studies Center (PPAK). Jakarta: Bank Indonesia.
- Assauri, S. 2004. Marketing Management (Basic Concepts and Strategies). Jakarta: PT. Grafindo Persada.
  Boediono. 2009. Indonesian economy. Where?: How to set economic Essay. Jakarta:
- Boediono. 2009. Indonesian economy, Where?: How to set economic Essay. Jakarti Keperpustakaan Populer Gramedia.

- Christian, P. 2011. Production and Design Modification Process Control Production of Coconut Palm Sugar SMEs. Thesis. Malang Entwijaya University. David, F.R. 2004. Syntacie Magazament, Cure Pageron Process Malay
- 2004. Strategic Management: Cases. Pearson Prentice Hall.
  Dyson, R. G. 2004. Strategic development and SWOT analysis at the University of Warwick.
- Furonean journal of operational research, 152(3), 631-640.
- Eriyatno. 2011. Comparative Economic Build. Jakarta: PT. Elex Media Komputindo.
- Harrison, J.S. and John, C.H.St. 2009. Foundation of Strategic Management.

  Ceneage Learning
- Hill, C. and Jones, G.R. 2009. Strategic Management: An Integrated Approach: Theory. Cengage Learning
- Hunger, J.D. and Whoelen, T.L. 2007. Essentials of Strategic Management. New Jersey: Prentice Hall.
  Issoestive, S dan Sudarto T. 2004. Coconut Palm Sugar, Downstream Products of All
- Issocsetiyo, S dan Sudario 1. 2004. Coconut raim Sugar, Downstream Froducts of Al Time. Surabaya: Penerbit Arkola.
  Kossowski, A. 2007. Strategic Management: Porter's Model of Generic Co. GRIN Verlag
- Kossowski, A. 2007. Strategie Management: Porter's Model of Generic Co. GKIN Verlag Mulyanto, D. 2006. Small Businesses And The Problem In Indonesia. Bandung: Yayasan Akatisa.
- Nurmianto, E. dan Nasution A. H. 2004. Partnership Strategy Formulation using AHP Method and SWOT Analysis. Jurnal Teknik Indutri 6 (1): 47-60.
- Rangkuti F. 2006. SWOT Analysis Techniques Dissecting Business Case: Reorientation Concept Planning Strategies for Confronting the 21st Century, Jakarta: Gramedia Pustaka I Itama.
- Saaty, T.L. and Vargas L.G. 2006. Decision Making with The Analytic Network Process: Economic, Political, Social and Technological Applications with Benefits, Opnortunities. Cost and Risk, Pitsburg. RWS Publications.
- Suswono. 2010. Strategi Peningkatan Daya Saing Organisasi Logistik Pangan Nasionalyang Berkelanjutan: Studi Kassus BULOG. Thesis. Manajemen dan Bisnis Institut Pertanian Bogor
- Tambunan, T. 2003. Development of the Agricultural Sector in Indonesia: Some Key Issues. Jakarta: Ghalia Indonesia.
- Thompson,J.L. and Martin, F. 2010. Strategic Management: Awareness & Change. Cengage Learning EMEA.
- Tuban Central Bureau of Statistics. 2013. Tuban In Figures 2013. BPS-Statistics Indonesia. Wrihatnolo, R.R. dan Dwidjowijoto, R.N. 2006. Indonesia Management Development Jakarta PT. Elex Media Koempurindo.